
Math 2210Q-008 - Applied Linear Algebra Quiz 7
Name: Fall 2018

Show ALL work to receive full credit.

1. In part (a), if the statement is always true, circle True. If the statement is sometimes false, circle False.
In both parts, write a careful and clear justification or counterexample.

(a) The determinant of





4 3 2 1
7 6 5 0
9 8 0 0
1 0 0 0



 is −40. True False

(b) Justify the true statement: If A is an n × n matrix with det(A) = 0, then the transformation

T : Rn → R
n by x �→ Ax is neither one-to-one nor onto.

2. (10 points) Let A =




1 2 3
0 4 5
0 0 6



 and b =




1
−2

0



. Use Cramer’s rule to find all solutions to Ax = b.



Math 2210Q-004 - Applied Linear Algebra Quiz 7
Name: Fall 2018

Show ALL work to receive full credit.

1. In part (a), if the statement is always true, circle True. If the statement is sometimes false, circle False.
In both parts, write a careful and clear justification or counterexample.

(a) The determinant of





4 3 2 1
7 6 5 0
9 8 0 0
1 0 0 0



 is −40. True False

(b) Justify the true statement: If A is an n × n matrix with det(A) = 0, then the transformation

T : Rn → R
n by x �→ Ax is neither one-to-one nor onto.

2. (10 points) Let A =




1 2 3
0 4 5
0 0 6



 and b =




1
−2

0



. Use Cramer’s rule to find all solutions to Ax = b.


